11/11/2023 - 2.1 D911 - WO NNOWA - NOVWIN JUN VTN NHN UN M 7991

| s magn R PN TIIN 019 MON D)
12 >uN7 N np TI0 "NV
5710 NINIDDOIN o Y5115 | NN A | bam R eRia) 0NN nbgon MInn 199y NRY YN 9oy .2

1 0 [ [ [ 0 0 0 0 0 1 ™ Blind flange ASTM B 16.5 A105 20 » r.f#150 1£010061

4 3 [ [ [ 0 0 0 0 0 1 ™ Blind flange ASTM B 16.5 A105 16 » r.f #150 1£010037

27 3 [ 0 12 0 0 0 12 0 0 ™ Blind flange ASTM B 16.5 A105 12 » r.f #150 1E010025

1 [ 0 0 [ 0 [} 0 0 0 1 ™ Blind flange ASTM B 16.5 A105 8  r.f #150 1£010092

5 3 [ [ [ 0 0 0 0 2 0 ™ Blind flange ASTM B 16.5 A105 6  r.f #150 1£010086

2 0 0 0 0 0 0 0 0 0 2 i Blind flange ASTM B 16.5 A105 2 7 r.f #150 1£010049
. _ _ ____ _______ ____________________ ___ _______ ___________________ __________________ |
2 0 [ [ [ 0 0 0 0 0 2 ™ Flange ASTM B 16.5 A105 20 » s.0.r.f #150 1£010224

89 12 50 0 [ 0 [} 0 24 0 3 ™ Flange ASTM B 16.5 A105 16 » s.0.r.f #150 1£010169

553 10 50 100 280 0 [} 0 108 0 5 ™ Flange ASTM B 16.5 A105 12 » s.0.r.f #150 1£010142

39 6 [ [ [ 0 26 0 6 0 1 ™ Flange ASTM B 16.5 A105 10 » s.0.r.f #150 1E010127

44 2 [ 0 [ 0 [} 3% 0 0 6 ™ Flange ASTM B 16.5 A105 8  5.0.r f #150 1£010291

18 [ 0 0 [ 0 [} 0 18 0 [} ™ Flange ASTM B 16.5 A105 6  5.0.rf #150 1£010277

133 0 [ [ [ 85 0 0 48 0 0 ™ Flange ASTM B 16.5 A105 4 7 5.0.r f #150 1£010265

348 [ [ 0 192 0 156 0 0 0 0 ™ Flange ASTM B 16.5 A105 3 7 5.0.r f #150 1£010248

192 [ 0 0 192 0 [} [} 0 [} ™ Flange ASTM B 16.5 A105 2.5 " s.0.r.f #150 1£010212

30 0 0 0 0 0 0 0 24 0 6 i Flange ASTM B 16.5 A105 2 7 5.0.r.f #150 1£010198

79 10 40 0 0 0 0 0 24 0 5 n Flange ASTM B 16.5 A105 16 » w.n.r.f #150 neck std 1E010175
238 8 40 40 60 0 0 0 84 0 6 n Flange ASTM B 16.5 A105 12 » w.n.r.f #150 neck std [E010150
40 8 0 0 0 0 26 0 6 0 0 n Flange ASTM B 16.5 A105 10  w.n.r.f #150 neck std 1E010135
80 2 0 0 0 0 0 72 0 0 6 n Flange ASTM B 16.5 A105 8  w.n.r.f#150 neck std 1E010299
12 0 0 0 0 0 0 6 6 0 0 n Flange ASTM B 16.5 A105 6 ” w.n.r.f#150 neck std 1E010285
64 0 0 0 0 40 0 0 24 0 0 n Flange ASTM B 16.5 A105 4  w.n.r.f#150 neck std [E012813)
240 0 0 0 192 0 0 0 48 0 0 n Flange ASTM B 16.5 A105 3" w.n.r.f #150 neck std [E012808
4 0 0 0 0 0 0 0 0 0 4 ald Flange ASTM B 16.5 A105 2  w.n.r.f#150 1E010206
. ____ ______ ______________________ ____ _ ___ _______________ ____ |
5 0 0 0 0 0 0 0 0 0 5 n Gasket klingerit 20 7 4430 1.5 mm #150 Y WX [E010426
137 20 75 0 0 0 0 0 30 0 12 n Gasket klingerit 16 7 4430 1.5 mm #150 Y WX [E010384,
560 20 75 90 250 0 0 0 110 0 15 n Gasket klingerit 12 7 ¢4430 1.5 mm #150 Y"1 WX 1E010363|
29 15 0 0 0 0 0 0 10 0 4 n Gasket klingerit 10 7 ¢4430 1.5 mm #150 Y WX 1E010351
57 0 0 0 0 0 0 45 0 0 12 n Gasket klingerit 8 7 4430 1.5 mm #150 y"W X 1E010486|
25 0 0 0 0 0 0 0 15 10 0 n Gasket klingerit 6 7 ¢4430 1.5 mm #150 y"W X 1E010475
110 0 0 0 0 70 0 0 40 0 0 n Gasket klingerit 4 7 4430 2 mm #150 y"MW N 1E010467|
450 0 0 0 240 0 170 0 30 10 0 n Gasket klingerit 3 7 ¢4430 1.5 mm #150 y"W X 1E010452
240 0 0 0 240 0 0 0 0 0 n Gasket klingerit 2.5 » ¢4430 1.5 mm #150 "MW X 1E010415
55 0 0 0 0 0 0 0 40 0 15 N> Gasket klingerit 2 7 ¢4430 1.5 mm #150 ¥"W X 1E010406|
. __ _________ _____________________ _____ _ __ _________________________________________________ |
11 4 7 0 0 0 0 0 0 0 0 n equal tee cs A234 16, we, std 1E010701
71 4 7 0 0 0 0 0 60 0 0 n equal tee cs A234 12 », we, std 1E010695
26 0 0 0 0 0 26 0 0 0 0 n equal tee cs A234 10 7, we, std 1E010692
7 0 0 0 0 0 0 6 0 0 1 n equal tee cs A234 8 7, we, 1E010749)|
18 0 0 0 0 0 0 0 18 0 0 ald equal tee cs A234 6 7, we, std 1E010746|
6 0 0 0 0 0 0 0 0 0 6 n equal tee ASTM B1.20.1 A105 1 » se npt #3000 1E010641
10 0 0 0 0 0 0 0 0 10 ald equal tee ASTM B1.20.1 A105 1/2 ” se npt #3000 1E010645
7 0 0 0 0 0 0 6 0 0 1 n reducer tee ASME B 16.9 A234 16 7 * 87 * 16, we, std 1E010822
2 0 0 0 0 0 0 0 0 0 2 n reducer tee ASME B 16.9 A234 12 7 * 87 * 12 7, we, std 1E010795
7 0 0 0 0 0 0 0 6 0 1 n reducer tee ASME B 16.9 A234 107 * 6 * 10, we, std 1E010782
24 0 0 0 0 0 0 0 24 0 0 n reducer tee ASME B 16.9 A234 16 * 12 7 * 16 ", we, std 1E010819)
6 0 0 0 0 0 0 6 0 0 0 ald reducer tee ASME B 16.9 A234 10 * 8 7 * 10, we, std 1E010783|
. ____________________ _____ _________________ |
5 0 0 0 0 0 0 0 0 0 5 n coupling 1/2 " ASME B16.11 2 » ASME B1.20.1 se npt #3000 1E011208|
3 0 0 0 0 0 0 0 0 0 3 n coupling 1 » se npt #3000 1E011207|
83 5 5 0 0 0 26 12 30 0 5 mn half coupling 1/2 » se npt #3000 1E011231
79 10 (3 0 0 0 26 6 30 0 3 n half coupling 2  se npt #3000 1E011239]
4 0 0 0 0 0 0 0 0 4 n elbow 90° 172 » ASME B16.5 A105 se npt, #3000 1E012102
14 0 0 0 0 0 12 0 0 2 ald elbow 90° 2 » ASME B16.5 A105 se npt, #3000 1E012134|
140 10 10 0 0 0 26 24 60 0 10 n hexagonal nipple 1/2  se npt #3000 1E011859)
5 0 0 0 0 0 0 0 0 0 5 mn hexagonal nipple 1 ” se npt #3000 1E011857|
141 10 8 0 0 0 52 6 60 0 5 n hexagonal nipple 2 » se npt #3000 1E011870)
47 4 0 0 0 0 26 0 12 0 5 N nipple 172 » * 100mm se npt sch8o 1E011880)
. __________ ____________________ _____ _ __ ______________ |
4 3 0 0 0 0 0 0 0 0 1 n concentric reducer ASME B16.5 A105 we 12 * 10  std 1E011361
1 0 0 0 0 0 0 0 0 0 1 n concentric reducer ASME B16.5 A105 we 16 * 12  std 1E011388
1 0 0 0 0 0 0 0 0 0 1 n concentric reducer ASME B16.5 A105 we 20 * 16  std 1E011439




concentric reducer ASME B16.5 A105 we 6 * 4  std

1E011573]

concentric reducer ASME B16.5 A105 we 8 * 6 7 std

1E011585

eccentric reducer ASME B16.5 A105 we 16 * 12 » std

1E011652

eccentric reducer ASME B16.5 A105 we 3 * 2-1/2 » std

1E011774/

1 0 0 0 0 0 0 0 0 0 1 n weldolet 16 + 2 7, std 1E012284|
1 0 0 0 0 0 0 0 0 0 1 n weldolet 12 + 2 », std 1E040270|
12 0 0 0 0 0 0 0 12 0 0 n weldolet 2 * ¢ , std 1E012318|
12 0 0 0 0 0 0 0 12 0 0 n weldolet 12 « 3 7, std 1E012258|
12 0 0 0 0 0 0 0 12 0 0 ald weldolet 10 * 3 7, std 1E012242
. __________ _____________________ _____ _ __ ______________ ______________ ________________ |
4 0 0 0 0 0 0 0 4 n Elbow 90° 20 bw LR A234 c.s. 1E012514|
70 20 40 0 0 0 0 0 0 0 10 n Elbow 90° 16” bw A234 LR c.s. std. 1E012510|
372 22 40 64 120 0 0 0 120 0 6 n Elbow 90° 127 bw LR A234 c.s. std. 1E012509)]
100 12 0 0 0 0 88 0 0 0 0 n Elbow 90° 10” bw LR A234 c.s. std. 1E013326|
102 0 0 0 0 0 0 96 0 0 6 n Elbow 90° 8" bw A234 LR c.s. std 1E012591
24 0 0 0 0 0 0 0 24 0 0 n Elbow 90° 6 bw A234 LR c.s. std 1E012520|
86 0 0 0 0 74 0 0 12 0 0 n Elbow 90° 4" LR bw A234 c.s. std 1E012517|
240 0 0 0 192 0 0 0 48 0 0 n Elbow 90° 3 LR bw A234 c.s. std. 1E012516|
192 0 0 0 192 0 0 0 0 0 n Elbow 90° 2 172" bw A234 LR c.s. std. 1E012512
30 0 0 0 0 0 0 0 24 0 6 n Elbow 90° 2 bw LR A234 ¢.s. Xs. 1E012513|
10 0 0 0 0 0 0 0 0 0 10 ald Elbow 90° 1 bw A234 LR c.s. std 1E012506]
. __________ ____________________ _______ ________________ _____________________________ |
70 8 60 0 0 0 0 0 0 0 2 n Elbow 45° 16" bw A234 LR c.s. std. 1E012493|
168 8 60 48 50 0 0 0 0 0 2 n Elbow 45° 12 bw A234 LR c.s. std. 1E012491
8 8 0 0 0 0 0 0 0 0 Elbow 45° 10" bw A234 LR c.s. std. 1E012489)|
14 0 0 0 0 0 0 12 0 0 2 n Elbow 45° 8" A234 bw LR ¢.s. std 1E012504|
37 0 0 0 0 37 0 0 0 0 n Elbow 45° 4 bw A234 LR ¢.s. std 1E012501
192 0 0 0 192 0 0 0 0 0 Elbow 45° 2-1/2 bw A234 LR ¢.s. std. 1E013084|
12 0 0 0 0 0 0 0 12 0 0 n Elbow 45° 2 bw A234 LR c.s. std 1E012495
. __________ __________________ __ _______ __ ___________________________________________________ |
34 0 20 0 0 0 0 0 0 0 14 n heat shrinkable sleeve HTLP 60 16 1E012460
50 0 40 0 0 0 0 0 0 0 10 n heat shrinkable sleeve HTLP 60, 12 » 1E012458,
90 0 0 0 0 0 80 0 0 0 10 'n heat shrinkable sleeve HTLP 60,10 1E012457|
128 0 0 0 0 0 0 120 0 0 8 n heat shrinkable sleeve HTLP 60, 8 1E012469)
12 0 12 0 0 0 0 0 0 0 0 n heat shrinkable sleeve HTLP 60 4 » 1E012467
35 10 0 0 0 0 10 10 0 0 5 ald 3000*50*3 \15Nn VIO 1E012474|
. ___________ __________________ __ _____ __ ___ _________________ |
1772 60 1700 0 0 0 0 0 0 0 12 on pipe 16 " cs, w.t. 0.375 7, API 5LB 1E120079)
4968 60 1700 520 2520 0 0 0 144 0 24 on pipe 12 7 ¢cs, w.t. 0.375 7, API 5LB 1E120058|
158 0 0 0 0 0 156 0 0 0 2 on pipe 10 7 cs, w.t. 0.365 7, API 5LB 1E120053|
60 0 0 0 0 0 0 48 0 0 12 on pipe 8  cs, w.t. 0.322 7, API 5LB 1E120163|
36 0 0 0 0 0 0 0 36 0 0 N pipe ASTM B36.10 A106 GrB 6  seamless B.E. sch-40 1E120208,
608 0 0 0 0 560 0 0 48 0 0 on pipe ASTM B36.10 A106 GrB 4 » seamless sch-40 1E120202
624 0 0 0 600 0 6 0 18 0 0 N pipe ASTM B36.10 A106 GrB 3  seamless B.E. sch-40 1E120199)
600 0 0 0 600 0 0 0 0 0 N pipe ASTM B36.10 A106 GrB 2.5 " seamless sch-40 1E120194,
102 0 0 0 0 0 0 0 96 0 6 N pipe ASTM B36.10 A106 GrB 2 » seamless sch-40 1E120192
6 0 0 0 0 0 0 0 0 0 6 VN pipe ASTM B36.10 A106 GrB 1 » seamless sch-40 1E120034,
6 0 0 0 [ 0 0 0 0 6 “on pipe 0.57, ASTM B36.1 A106 GrB, bare seamless, sch-40 1E120033

pipe 20 " cs, w.t. 0.375 7, API SLB with 3 layers coating (fbe)

174 0 0 96 0 48 0 0 0 0 30 vn APC3 or equal 1E120320
pipe 16 cs, w.t. 0.375 7, API 5SLB with 3 layers coating (fbe)
1100 750 320 0 0 0 0 0 0 0 30 N APC3 or equal [E120080
pipe 12 ¢s, w.t. 0.375 7, API 5SLB with 3 layers coating (fbe)
1172 750 320 96 0 0 0 0 0 0 6 vn APC3 or equal 1E120059
pipe 10 7 cs, w.t. 0.365 7, API 5SLB with 3 layers coating (fbe)
550 60 0 0 0 0 480 0 0 0 10 N APC3 or equal 1E120054,
pipe 8 7 cs, w.t. 0.3¢4 » , API 5LB with 3 layers coating (fbe)
366 0 0 0 0 0 0 360 0 0 6 N APC3 or equal IE120165
pipe 4 7 cs, w.t. 0.312 7, API 5LB with 3 layers coating (fbe)
48 0 0 0 0 48 0 0 0 0 0 VN APC3 or equal 1E120159

42 0 0 0 0 0 0 0 0 0 42 VN pipe 1.5 ¢.s sch-10 galvenized 1E120495
60 0 0 0 0 0 0 0 60 207 Vo stud bolt 1-1/8 + 7 B7/2H [E040089
1294 30 800 0 0 0 0 0 384 0 80 16" Vo stud bolt 1 * 5-3/4 B7/2H 1E040187|
6795 40 600 900 2750 0 315 0 2100 0 90 121+10” o stud bolt 7/8" * 5» B7/2H 1E040102
690 0 0 0 0 0 0 630 0 0 60 8 o stud bolt 3/4 *4-1/2" B7 + 2 nuts 2H 1E040162
126 0 0 0 0 0 6 120 0 0 6 Vo stud bolt 3/4” * 4-1/4» B7/2H 1E040152




1137 0 0 0 0 200 625 0 288 0 24 4 o Stud bolt 5/8" * 3-3/4 B7 + 2 nuts 2H 1E040160|
90 0 0 0 0 0 0 0 60 0 30 4n, 31, 2.5" Vo stud bolt 5/8" * 3-1/2» B7/2H galv 1E040091

84 0 0 0 0 0 0 0 84 0 0 41 VO stud bolt 5/8+6 1/2" B7 + 2 nuts A194 2H galv. 1E040191

1 0.7 1917 221 O 11D TI IWINY NN D03 1E013327|

WX 01 Ty PN-25 nmonn oy 127070 77 52192 1979 90

1 0 0 0 0 0 0 0 0 0 1 n 2900 NN Rzl 1E080345
BUTTERFLY VALVE, water type, position indicating, cast iron
5 2 0 0 0 0 0 0 0 0 3 a wafer type- 232971 body, hypalon lined, cast iron disc, UL/FM, 8 ", 150# 1E080026
BUTTERFLY VALVE,water type,position indicating,cast iron
24 0 0 0 0 0 0 0 24 0 0 n wafer type- 232971 body&disc,UL/FM Approved 250 psi 3 1E080027
Gate valve 16 7 OSSY UL/FM, f.f#175,gear operated,acc to spec
20 6 13 0 0 0 0 0 0 0 1 n #193787 1E080551
Gate valve 12 7 OSSY UL/FM,f.f#175 hand operated,acc to spec
83 6 5 0 0 0 0 0 72 0 0 n #193787 TE080549)|
Gate valve 10 7 OSSY UL/FM,f.f#175 hand operated,acc to spec
17 5 12 0 0 0 0 0 0 0 0 n -193787 V190 |#193788 TE080668|
Gate valve 8 ” OS$Y UL/FM,f.f#175 hand operated,acc to spec
12 0 0 0 0 0 0 12 0 0 0 n -193787 V190 |#193788 TE080669)|
Gate valve 6 ” OS$Y UL/FM,f.f#175 hand operated,acc to spec
18 0 0 0 0 0 0 0 18 0 0 n -193787 V19N [#193787 1E080545
Gate valve 37 OS$Y UL/FM,f.f#175 gear operated,acc to spec
2 0 0 0 0 0 0 0 0 2 n -193787 V19N |#193788 1E080670
26 0 0 0 0 0 0 0 24 0 2 n -193787 v19n|gate valve OS&Y 2 » ASA-175 r.f. UL/FM 1E080362
1 0 0 0 0 0 0 0 0 0 1 mn Swing check valve 12 » UL/FM, £.f#175 acc to spec #193788 1E080544|
12 0 0 0 0 0 0 12 0 0 0 mn Swing check valve 8 » UL/FM, £.f#175 acc to spec #193788 1E080542
2 0 0 0 0 0 0 0 0 0 2 mn Swing check valve 2 » UL/FM, f.f#175 1E013328|
0 0 0 0 0 0 0 0 4 n 27900 NN 0112 )N 112112 WY 112NN NANTP 1/27 11N IN DINDY 1E013329
—
n YONN VI V99N DRNNA NIARYNT 1277 INYIANT YNY MON QN 1E080671
12 0 0 0 0 0 0 0 12 0 0 PAND VIM| 47 IOIP PTHYN PRINVID DY 19192 N9YAN MDIANT XN M’ qun 1E080672
24 0 0 0 0 0 0 0 24 0 0 POND VYN[ 127 AP OINYN PRINIID DV 12192 NOYN MNIANT XNT M’ qn [E080673
6 0 0 0 0 0 0 0 0 0 n V9N POPY 1PONY 192NN N XY air relief valve »2 1E080674,
0 0 0 0 0 0 0 0 1 n 282934 Y PIND 37 TP NPYIN NN IR 1E080675
n> 9133 37 JVIP PRI NPIDN NN 1E013330
—
0 0 0 0 0 0 0 0 n »aN v19n |Fire Line Basket strainer 6 » 150# acc. to spec 1E013331
24 0 0 0 0 0 0 0 24 0 0 n »aN von |Fire Line Basket strainer 12 » 1504 acc. to spec 1E013332
156 0 0 0 0 0 156 0 0 0 0 n 22101 433 DT T8 XLWY TY 150# 1IN 37 01PN DI 1 1F010059
0 0 0 0 0 0 0 2 N B.S.P n)121 Y9N 3 \M0W THsn 1E010615
—
ball valve 2 » #800, 3 pc, scrd for fuel . fire safe 1E080138|
40 0 12 12 12 0 0 0 0 4 mn ball valve 1 » #800, 3 pc, scrd for fuel . fire safe 1E080132

ball valve 1/2 7, #800, 3 pc, scrd for fuel . fire safe 1E080134|

NPT, 20 BAR " 1/2 1120 1893 "0 0y 47 XnY 10 1E090002
NPT.BAR 15 7y 1 011 1/27 MX120 6” \n2 10 1E090003)

4 0 0 0 0 0 0 0 0 4 0 mn Flange ASTM B 16.5 S.S 67 w.n.r.f#150 neck std 1E013333|
4 0 0 0 0 0 0 0 0 4 0 mn Flange ASTM B 16.5 S.S 37 w.n.r.f#150 neck std 1E013334|
2 0 0 0 0 0 0 0 0 2 0 n Elbow 90° 6 S.S bw. std. 1E013335
4 0 0 0 0 0 0 0 0 4 0 n Elbow 90° 4 S.S bw. std. 1E013336|
4 0 0 0 0 0 0 0 0 4 0 n Elbow 45° 4 S.S bw. std. 1E013337]
6 0 0 0 0 0 0 0 0 6 0 ) pipe S.S 6” seamless B.E. sch-40 1E120496|
6 0 0 0 0 0 0 0 0 6 0 ) pipe S.S 3 » seamless B.E. sch-40 1E120497|
4 0 0 0 0 0 0 0 0 4 0 a concentric S.S reducer ASME B16.5S.S we 6 * 4 7 std 1E013338
35 0 0 0 0 0 0 0 0 35 0 6 Vo stud bolt 3/4 * 4-1/4" S.S 1E040271
41431 Stud bolt 5/8" * 3-3/4 S.S 1E040272
272NN PNX PN 1E013339|
insulator sigment MF-MINI for pipes 2-4 » H=50 according to

48 0 0 0 0 48 n table 1E012883)

insulator sigment MF-MIDI for pipes é-14 » H=50mm according
48 0 0 48 0 n to table 1E012885
100 0 0 0 0 0 n MY IN MPH-90 1095 DYT MT1NY DNNNA NPNYIIN NS MHN 1E013106
























